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QUESTION

A rectangular base pyramid has base length 15 cm and width 8 cm. The height
of the pyramidis 20 cm. Find volume. LSA and TSA.

A T‘!’ [SA = :?_/_x-?(hs)x.(’(anl—ﬁl'-

\
| /& p o L (g0) o (832 - Yoo +1b
/. L-£+(Q_),()T(___),
. ’ Y x10Y
L/ L= g = 4l fXI3%8

LSh» (1s+0)arp = 93X02p em” 2
) TSA = 9343 + 15%4 em?
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Q)A pipe with square cross—section 1s supplying water to a
cistern which was 1nitially empty. The area of cross—section
is 4 em? and the nozzle velocity of water is 40 m/s. The
dimensions of the cistern are 10 m x § m x 6 m. Then the
cistern will be full in —

(a) 9.5 hours (b) 9 hours
(c) 8hours 20 minutes (d) 8 hours

_ o/
Volume 975 Jefern fr’llu( g(r /m'/ov /ocr Mmtf = Aren x Vdoua\

= 4 wo® % Y0 Xy cm/g

_ I6poo cm‘/9

—
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Volum ¢ °f of¢fern = 10 X% X6 m’
= Yo m?
Tl.f‘f)t fo 7(\:.//

0
' yf&/xro[’ o’ 30 x10°
Volume 07[ ¢sterh = A0 -

2 g 2 D
Yolume ff/{ecf f’" s‘Qcm{f /I{ X1o= Cmfs . 30,00
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Avea of orog X ve/oc}fd X Trve
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Q)A pipe with square cross—section 1s supplying water to a
cistern which was 1nitially empty. The area of cross—section
is 4 em? and the nozzle velocity of water is 40 m/s. The

dimensions of the cistern are 10m * 8§ m x 6 m. Then the
cistern will be full in

(a) 9.5 hours (b) 9 hours
(c) 8hours 20 minutes (d) 8 hours

Ans: (c)
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EEEEE

Q) A cubic metre of copper weighing 9000 kg 1s rolled into a
square bar 9 m long. An exact cube 1s cut off from the bar:
How much does the cube weigh ?

(a) 1000kg (b) @kg @"__ L %ﬁ

(c) 300kg w

-

4 L R
/ Yolum e of ﬂzqare bor = [ m° a (3 "7
o~
2 - —— Qo0
L=b-0 aaxf = , : 9;; .
a =1L 5 a=Ln — =y 1097 =/[00V
7 3 7 A7 3 JA
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Q) A cubic metre of copper weighing 9000 kg 1s rolled into a
square bar 9 m long. An exact cube 1s cut off from the bar:
How much does the cube weigh ?

1000

(a) 1000kg (b) Tkg
500

() 300kg (d) Tkg

Ans: (b)
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EEEEE

Q) A large water tank has the shape of a cube. If 128 m? of
water 1s pumped out, the water level goes down by 2 m.
Then the maximum capacity of the tank 1s

\/(a) 512 m? (b) 480m?>
() 324m’ (d) 256m° 77 | 2
2> — 148 = am”(d-i) " g —_ 1/
& //
0~ 138 = a4t — ¢ [(IL

(a—z )
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Q) A large water tank has the shape of a cube. If 128 m? of
water 1s pumped out, the water level goes down by 2 m.
Then the maximum capacity of the tank 1s

(a) S12m’ (b) 480m?>
() 324m’ (d) 256m°

Ans: (a)
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/, 3/2 A

Q) The trunk of a tree1s a right cylinder 1.5 minradius and 10
m high. The volume ofthe timber which remains when the
trunk 1s trimmed just enough to reduce it to a rectangular
parallelopiped on a square base 1s
(a) H4m’v (b) 46m’
(c) 45m3 (d) 47m3
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Volume o{ a&'ndu — wf 5{ /bara[/dof if) U{
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Q) The trunk of a tree1s a right cylinder 1.5 minradius and 10
m high. The volume ofthe timber which remains when the
trunk 1s trimmed just enough to reduce it to a rectangular
parallelopiped on a square base 1s
(a) 44m’> (b) 46m’

(c) 45m> (d) 47m3

Ans: (a)
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EEEEE

Q) In a swimming pool measuring 90 m by40 m, 150 men take a
dip. Ifthe average displacement of water by aman 1is § cubic
metres, what will be the rise in water level?

(@) 33.33cm (b) 30cm
(¢) 20cm (d) 25cm

0 xyo x wise ;Pﬁ ht. = 150 X §
A :)’%}W}‘C L xfw = 33.3% wy

o x 3

VY

=1
3”)
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Q) In a swimming pool measuring 90 m by40 m, 150 men take a
dip. Ifthe average displacement of water by aman 1is § cubic
metres, what will be the rise 1n water level?

(@) 33.33cm (b) 30cm
(¢) 20cm (d) 25cm

Ans: (a)
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EXAMS

Q) A rectangular piece of paper of dimensions 22 cmby 12 cm
1s rolled along its length to form a cylinder. The volume

22
(in cm?) of the cylinder so formed is (use 7 = 7)

r
@) 562 (b) 412 o, =
|
(c) 462 (d) 362 f _ s
= 4 g S —
AL = 3K
Wl = Tret b
r= % e = 66
2 — z%ii//ﬁﬁ"}’f _zéﬁ y
B = 12 em A F ATk
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Q) A rectangular piece of paper of dimensions 22 cmby 12 cm
1s rolled along its length to form a cylinder. The volume

22
(in cm?) of the cylinder so formed is (use 7 = 7)

(@) 562 (b) 412
(c) 462 d) 362

Ans: (c)

EXAMS
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EEEEE

Q)How many spherical bullets each of 4 cm 1n diameter can be
made out of a cube of lead whose edge 1s 44 cm ?

(a) 2541 (b) 2551
() 2561 (d)y 2571

C'(M)S = 4 X 71"(2)5 X7
’ [ S
Nn - y"W"M/ = o %2/
ZX%XMV :/()”U/Z/

3
~ (% 23] = 4571

—




CDS 1 2025 LIVE CLASS - MATHS - PART 4

Q)How many spherical bullets each of 4 cm 1n diameter can be
made out of a cube of lead whose edge 1s 44 cm ?

@) 2541 (b) 2551
(@) 2561 (dy 2571

Ans: (a)
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EEEEE

Q)A river 2.5 m deep and 45 m wide 1s flowing at the speed of
3.6 km/hour. The amount of water that runs into the sea per

nunute 1s
(@) 6650m> (b) 6750m>
(c) 6850m’ (d) 6950m°

Voume  per unib fime = Area x velout
(' ([en h /pw

bresdth 1 heght init i )
( Widfh) ( defﬂl)



CDS 1 2025 LIVE CLASS - MATHS - PART 4

Q)A river 2.5 m deep and 45 m wide 1s flowing at the speed of
3.6 km/hour. The amount of water that runs into the sea per
minute 1s

(a) 6650m> (b) 6750m’
(c) 6850m’ (d) 6950m°

Ans: (b)

EXAMS
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Q)The area of four walls of a room is 120m?. The length ofthe

room 1s twice 1ts breadth. If the height &f the room 1s 4 m,
what 1s area of the floor ?

(a) 40m? (b) 50m? "y
(c) 60m? (d) 80m? -

Vi (Hb)ﬁ. = /20
{=4d6

L Ixb -

—

h-ym

EEEEE
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Q)The area of four walls of a room is 120m?. The length ofthe

room 1s twice 1ts breadth. If the height of the room 1s 4 m,
what 1s area of the floor ?

(a) 40m? (b) 50m?
(c) 60m? (d) 80m?

Ans: (b)
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EEEEE

Q)Theratio of the curved surface area to the total surface area

of a right circular cylinder 1s 1 : 2. If the total surface area 1s
616 cm?, what is the volume of the cylinder ?

(a) 539 cm’ (b) 616cm’
(©) 1078 cm (d) 1232cm? vh = 616
q
WAPSY ¥ 3% (v+b) = 61
X - _
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Q)Theratio of the curved surface area to the total surface area
of a right circular cylinder 1s 1 : 2. If the total surface area 1s
616 cm?, what is the volume of the cylinder ?

(a) 539 cm’ (b) 616cm’
() 1078 cm’ (d) 1232cm’

Ans: (c)
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Q)Into a conical tent of radius 8.4m and vertical height 3.5 m,
how many full bags of wheat can be emptied, 1f space

required for the wheat in each bagis 1.96m? ?.
(@) 264 (b) 201
(c) 132 (d) 105
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Q)Into a conical tent of radius 8.4m and vertical height 3.5 m,
how many full bags of wheat can be emptied, 1f space

required for the wheat in each bagis 1.96m? ?.
(@) 264 (b) 201
(c) 132 (d) 105

Ans: (c)
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Q) The radu1 of two solid 1ron spheres are 1 cm and 6 cm

respectively. A hollow sphere 1s made by melting the two

spheres. If the external radius of the hollow sphere 1s 9 cm,
then 1ts thickness (1n cm) 1s

@ 05 ) () 2 ) 15 @ 1

t = extoena/ radmd — inferpa/ vedius
= — S A |
3
- 9=
i /7 = TFi9- 73
= ?..-/

2. 574;33
0 il
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Q) The radi1 of two solid 1ron spheres are 1 cm and 6 cm
respectively. A hollow sphere 1s made by melting the two

spheres. If the external radius of the hollow sphere 1s 9 cm,
then 1ts thickness (1n cm) 1s

@ 05 (b) 2 ) 15 @ 1

Ans: (d)
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Q) From a solid wooden right circular cylinder, a right circular
cone whose radius and height are same as the radius and
height of the cylinder, respectively 1s carved out. What 1s

the ratio of the volume of the utilised wood to that of the
wasted wood?

@ 1:2 (b) 2:1
() 2:3 (d) 1:3

Tr2h
o _
' - Lk
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Q) From a solid wooden right circular cylinder, a right circular
cone whose radius and height are same as the radius and
height of the cylinder, respectively 1s carved out. What 1s

the ratio of the volume of the utilised wood to that of the
wasted wood?

(@) 1:2 (b) 2:1
() 2:3 (d) 1:3

Ans: (a)
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Q)If the heights and the areas of the base of a right circular
cone and a pyramid with square base are the same, then
they have

' 2

(a) same volume and same surface area a== v k- J?TY
(b) same surface area but different volumes

(c) same volume but different surface areas v
(d) different volumes and different surface areas

Ja l

,. afmrl
hf. = ‘é" ﬁ O fumye it Same B
v g

ffromid — —31 X )( )

o i)

2
rS’ur ac¢ 0 s e fdmmu ____—;}(40)}(1, + Q
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Q)If the heights and the areas of the base of a right circular
cone and a pyramid with square base are the same, then
they have
(a) same volume and same surface area
(b) same surface area but different volumes
(c) same volume but different surface areas
(d) different volumes and different surface areas

Ans: (c)
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Q) The length, breadth and height of a box are respectively
14m, 12mand 13 m. The length of the greatest rod that can
be put in 1t 1s
(a) 2231m (b) 22.56m
(¢c) 20m (d) 195m
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Q) The length, breadth and height of a box are respectively
14m, 12mand 13 m. The length of the greatest rod that can
be put in 1t 1s
(a) 2231m (b) 22.56m
(¢c) 20m (d) 195m

Ans: (b)



CDS 1 2025 LIVE CLASS - MATHS - PART 4

Q) What 1s the quantity of cloth requured to roll up to form a
right circular tent whose base 1s of radius 12 m and height
Sm?

(a) 40msqm (b) 60msqm
(c) 78msqm (d) 156msqm
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Q) What 1s the quantity of cloth required to roll up to form a
right circular tent whose base 1s of radius 12 m and height
Sm?

(a) 40msqm (b) 60msqm
(c) 78msqm (d) 156msqm

Ans: (d)
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Q) A cylinder 1s surmounted by a cone at one end, a hemisphere
at the other end. The common radius 1s 3.5 cm, the height
of the cylinder 1s 6.5 cm and the total height of the structure
1s 12.8 cm. The volume V of the structure lies between

(@) 370cm’and380cm’ (b) 380 cm?®and 390 e’
(c) 390cm’and400cm’® (d) None of these
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Q) A cylinder 1s surmounted by a cone at one end, a hemisphere
at the other end. The common radius 1s 3.5 cm, the height
of the cylinder 1s 6.5 cm and the total height of the structure
1s 12.8 cm. The volume V of the structure lies between

(@) 370cm’and380cm’ (b) 380 cm?®and 390 e’
(c) 390cm’and400cm’® (d) None of these

Ans: (a)
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Q) A cone, a hemisphere and a cylinder stand on equal bases and
have the same height, the height being equal to the radius of
the circular base. Their total surtace areas are i the ratio:

@) (2+1):3:4 ® (f3+1):3:4
(©) ~2:3:4 @ 3:7:8
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Q) A cone, a hemisphere and a cylinder stand on equal bases and
have the same height, the height being equal to the radius of
the circular base. Their total surtace areas are i the ratio:

@) (2+1):3:4 ® (f3+1):3:4
(©) ~2:3:4 @ 3:7:8

Ans: (a)
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Q) It is required to fix a pipe such that water flowing through it
at a speed of 7 metres per minute fills a tank of capacity 440

cubic metres in 10 minutes. The inner radius of the pipe
should be :

(@) 2 m (b) 2m

(©) S m (d) % m
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Q) It is required to fix a pipe such that water flowing through it
at a speed of 7 metres per minute fills a tank of capacity 440

cubic metres in 10 minutes. The inner radius of the pipe
should be :

(@) 2 m (b) 2m
1
(©) S m (d) 5 m

Ans: (a)
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Q) A right prism has a square base with side of base 4 cm and
the height of prism1s 9 cm. The prism 1s cut i three parts of
equal heights by two planes parallel to 1ts base. What 1s the
ratio of the volume of the top, middle and the bottom part
respectivel y?

(@) 1:8:27 (b) 1:7:19
(c) 1:8:20 (d) 1:1
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Q) A right prism has a square base with side of base 4 cm and
the height of prism1s 9 cm. The prism 1s cut i three parts of
equal heights by two planes parallel to 1ts base. What 1s the
ratio of the volume of the top, middle and the bottom part
respectivel y?

(@) 1:8:27 (b) 1:7:19
(c) 1:8:20 (d) 1:1

Ans: (d)
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Q)The height and the total surface area of a right circular
cylinder are 4 cm and 87 sq.cm. respectively. The radius of
the base of cylinder 1s

(@) (2\6—2)0111 (b) (2—x/§)cm
(c) 2cm (d) Jrem



CDS 1 2025 LIVE CLASS - MATHS - PART 4

Q)The height and the total surface area of a right circular
cylinder are 4 cm and 87 sq.cm. respectively. The radius of
the base of cylinder 1s

(Ei) (2'\/5—2)(2111 (b) (2—\/5);;111
(9 2Zom (d) Jrem

Ans: (a)
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Q) A semicircular sheet of paper of diameter 28 cm 1s bent to
cover the exterior surface of an open conical 1ce-cream cup.
The depth of the 1ce-cream cup 1s
(@ 10.12cm (b) 8.12cm
(¢c) 12.12cm (d) 14.12cm
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Q) A semicircular sheet of paper of diameter 28 cm 1s bent to
cover the exterior surface of an open conical 1ce-cream cup.
The depth of the 1ce-cream cup 1s
(@ 10.12cm (b) 8.12cm
(¢c) 12.12cm (d) 14.12cm

Ans: (d)
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Q) A cylinder 1s filled to 4/5th 1ts volume. It is then filled so that
the level of water coincides with one edge of 1ts bottom and
top edge of the opposite side, In the process, 30 cc of the
water 1s spilled. What 1s the volume of the cylinder?

(a) 75cc (b) 96¢cc
(¢c) Data msufficient (d) 100cc
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Q) A cylinder 1s filled to 4/5th 1ts volume. It is then filled so that
the level of water coincides with one edge of 1ts bottom and
top edge of the opposite side, In the process, 30 cc of the
water 1s spilled. What 1s the volume of the cylinder?

(a) 75cc (b) 96¢cc
(¢c) Data msufficient (d) 100cc

Ans: (d)
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Q)The length, breadth and height of a cuboid are in the ratio
1 : 2 :3. The length, breadth and height of the cuboid are
mcreased by 100%, 200% and 200%, respectively. Then, the
increase 1n the volume of the cuboid will be :

(a) Stimes (b) 6times
(c) 12times (d) 17 tumes
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Q)The length, breadth and height of a cuboid are in the ratio
1 : 2 :3. The length, breadth and height of the cuboid are
mcreased by 100%, 200% and 200%, respectively. Then, the
increase 1n the volume of the cuboid will be :

(a) Stimes (b) 6times
(c) 12times (d) 17 tumes

Ans: (d)
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Q)If x 1s the curved surface area and y 1s the volume of a right
circular cylinder, then which one of the following 1s correct?

(@) Onlythe ratio of the height to radius of the cylinder 1s
independent of x
(b) Only the ratio of height to radius of the cylinder 1s

imndependent of y
(c) Either(a) or(b) (d) Neither (a)nor (b)
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Q)If x 1s the curved surface area and y 1s the volume of a right
circular cylinder, then which one of the following 1s correct?

(@) Onlythe ratio of the height to radius of the cylinder 1s
independent of x
(b) Only the ratio of height to radius of the cylinder 1s

imndependent of y
(c) Either(a) or(b) (d) Neither (a)nor (b)

Ans: (d)
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Q)A drainage tile 1s a cylindrical shell 21 ecm long. The inside
and outside diameters are 4.5 cm and 5.1 cm, respectively.
What 1s the volume of the clay required for the tile?

(a) 696meny’ (b) 6.76mcem?
(¢) 5.76meny’ (d) None of these
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Q)A drainage tile 1s a cylindrical shell 21 ecm long. The inside
and outside diameters are 4.5 cm and 5.1 cm, respectively.
What 1s the volume of the clay required for the tile?

(a) 696meny’ (b) 6.76mcem?
(¢) 5.76meny’ (d) None of these

Ans: (d)
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Q) The volume of spheres are proportional to the cubes of
their radii. Two spheres of the same material weigh 3.6 kg
and 2.7 kg and the radius of the smaller one1s 2 cm. If the
two were melted down and formed 1nto a single sphere,
what would be 1ts radius?

(a) 4cm (b) 4.3cm
(c) 3cm (d) 2.6cm
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Q) The volume of spheres are proportional to the cubes of
their radii. Two spheres of the same material weigh 3.6 kg
and 2.7 kg and the radius of the smaller one1s 2 cm. If the
two were melted down and formed 1nto a single sphere,
what would be 1ts radius?

(a) 4cm (b) 4.3cm
(c) 3cm (d) 2.6cm

Ans: (d)
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EEEEE

Q) Let A be a pyramid on a square base and B be a cube. If a,
b and ¢ denote the number of edges, number of faces and

number of corners, respectively. Then, theresulta=5b+c
1s true for

(a) OnlyA (b) OnlyB
(c) BothAandB (d) Neither Anor B
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EEEEE

Q) Let A be a pyramid on a square base and B be a cube. If a,
b and ¢ denote the number of edges, number of faces and
number of corners, respectively. Then, theresulta=5b+c

18 true for
(@) OnlyA (b) OnlyB
(c) BothAandB (d) Neither Anor B

Ans: (d)
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Q)Consider the following statements in respect of four
spheres A,B, C and D having respective radi1 6, 8, 10 and
12 cm.

1. The surface area of sphere C 1s equal to the sum of
surface areas of sphere 4 and B .

2. The volume of sphere D 1s equal to the sum of
volumes of sphere 4, B and C.

Which of the above statements is / are correct ?

(a) Only 1 (b) Only 2

(¢c) Both 1 and 2 (d) Neither 1 nor 2



CDS 1 2025 LIVE CLASS - MATHS - PART 4

Q)Consider the following statements in respect of four
spheres A,B, C and D having respective radi1 6, 8, 10 and
12 cm.

1. The surface area of sphere C 1s equal to the sum of
surface areas of sphere 4 and B .

2. The volume of sphere D 1s equal to the sum of
volumes of sphere 4, B and C.

Which of the above statements is / are correct ?

(a) Only 1 (b) Only 2

(¢c) Both 1 and 2 (d) Neither 1 nor 2

Ans: (c)
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